log MiniSD(R,>t) / MiniSD(0,0) MiniSD(R.>t) / MiniSD(R.0) (Z)y (R)[Z,)

[Fig06] Z grad evol test || K0828 0.3.6 d13¢512 w/base Bzca6l || FWHM=0.5dex ; AR=1.0 pix || UGC10331

(Z) w (D[Z:) log MiniSD(>t) log LobnSD(>t)

vily

logt > 6.0
I I
l l
I I

Y Y.

1 —0.38

—0.40

Y AR

-0.42

~0.44

—-0.46

logt > 8.652

—0.48

logaZ flux  yx [ZQ®]

—0.50
L

r

A8 ~0.52

—0.54 ] ] ] ] ] ] ] ]
1 -04-0.2 00 02 04 0.6 08 1.0 1.2 14
j N —0.38 T T T T T T T
B I|F ] | i

B i B i —-0.40

logt >9.0
I I
l l
I I

|
e
W

-0.42

yx [Z O]

—0.44

—0.46

—0.48

log aZ flux

—-0.50

—-0.52

—0.54

7
7] 1 4 1 1 1 1 1 1 1
12 ¢ ®

AN

. 1.0
|
T 0.6

logt > 9.652

! 0.4 ‘
] 0.2 .
. 0.0
| 0.2 *

Il Il Il Il 70.4 Il Il Il Il Il Il Il
78 80 82 84 86 88 90 92 94

at flux_ yx [yr]

|
Ay yx

logt > 10.0
1
L3
®
®
|




